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if (boolean-expression) {

statement(s);

} boolean- false
expression

Statement(s)
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ifi>0{ if (i > 0) {
System.out.println("i is positive); System.out.printin("i is positive");

} }

(a) Wrong (b) Correct
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if (i > 0) { vl if (1 > 0)
. e L, Equivalent . e e
System.out.printin("i is positive"); | =—— System.out.printin("i is positive");

}

(a) (b
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import java.util.Scanner;

public class SimpleIfDemo {

}

public static void main(String[] args) {

Scanner input = new Scanner(System.in);
System.out.printin("Enter an integer: ");
int number = input.nextInt();

if (number % 5 == 0)
System.out.printin("HiFive");

if (number % 2 == 0)
System.out.printin("HiEven');

Enter an integer: 4 -enter
HiEven

Enter an integer: 30 |-Enter
HiFive
HiEven
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if (boolean-expression) {
statement(s)-for-the-true-case;

else {
statement(s)-for-the-false-case;
true boolean- false
expression
y Y
Statement(s) for the true case I Statement(s) for the false case I
. T -y
O
if (number % 2 == 0) if (number % 2 == 0)
System.out.printin(number + " 1is even."); System.out.printin(number + " 1is even.");
else
System.out.printin(number + " is odd."); System.out.printin(number + " is odd.");
(a) (b)
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max < a

max <« b

No l:

max « cC

|

Yes
¢ > max
No|.
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import java.util.Scanner:

public class Maximum] {
public static void main (String[ | args){

Scanner input = new Scanner ( System.in ):
double a = input.nextDouble( ):
double b = input.nextDouble( ):
double ¢ = input.nextDouble( ):

double max = a:

if (b>max)
max = b;

if (¢>max)
max = c:

System.out.println ( "max" + max ):

b
}
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import java.util.Scanner;

public class Maximum?2{
public static void main (String|[ | args){

Scanner input = new Scanner ( System.in );
max < a double a = mput.nextDouble( ):
double b = mput.nextDouble( );
double ¢ = mnput.nextDouble( ):

double max:
if ( a=b )
max =a:
else
max=b;

max « C

if (c>max)
max = ¢;

System.out.println ( "max" + max );

}
h
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if (3 > k) {
if (3 > k)
System.out.println(”i1 and j are greater than k");
}
else

System.out.println("i is less than or equal to k');
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true score »= §p fale

grade 1is A|

false

true score »= 70
grade is B|
true score >= 60 _fabe
- grade is E|
lrue

grade is Dl

grade is F|




if (score >= 90.0)
System.out.print("A");
else
if (score >= 80.0)

System.out.print("F");

(a)

if (score >= 90.0)
System.out.print("A");

else if (score >= 80.0)
System.out.print("B");

System.out.print("B"); Equivalent else if (score >= 70.0)
else — System.out.print("C");
if (score >= 70.0) else if (score >= 60.0)

System.out.print("C"); System.out.print("D");
else else
if (score >= 60.0) System.out.print("F");
System.out.print("D");
else This is better

(b)
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if (x> 2) {
if (y > 2) {
Z =X+ Y;

System.out.println("z is " + z);
}
¥
else
System.out.printin("x is " + x);

X=3,y=2 T

X=3,y=4 b zis 7
X=2,y=2 ol X is 2
X=2,y=3 Gl x is 2
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if (score >= 60.0)
System.out.printin("D");
else if (score >= 70.0)
System.out.printin("C");
else if (score >= 80.0)
System.out.printin("B");
else if (score >= 90.0)
System.out.printin("A");
else
System.out.printin("F");
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if (radius >= 0) if (radius >= 0) {
area = radius * radius * PI; area = radius * radius * PI;
System.out.println("The area " System.out.printin("The area "
+ " 1is " + area); + " ds " + area);
}
(a) Wrong (b) Correct
Logic error Empty block
if (radius >= 0);”% if (radius >= 0) {'};
{
area = radius * radijus * PI; Equivalent area = radius * radius * PI;
System.out.printin("The area " —_— System.out.println("The area "
+ " s " + area); + " 1is " + area);
} }
(a) (b)
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if (inState) {
tuition = 5000;
System.out.printin("The tuition 1is
}
else {
tuition = 15000;
System.out.printin("The tuition is

}

+ tuition);

+ tuition);
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if (inState) {
tuition = 5000;
}
else {
tuition = 15000;
}

System.out.println("The tuition 1is

+ tuition);
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if (number % 2 == 0) Equival boolean even

even = true: uivalent P number % 2 == 0:
else

even = false; Thﬁisshuﬂer’fﬂ

(a) (b}
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